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SN ALDED
M CR2HLUC(NELESFH/E2)
ool TRAadatk] EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
401 AIEBIZ20HbI 3,897,632 2,780,640 1,116,992
01 Al&Hl 3,887,534 2,771,055 1,116,479
OJl2 ¥ &ALl 127,534
N E] 3,740,000, 00024+3.4 % 127,534
OAl&H 3,760,000
A QHARIBIHN(RENSE) TR HEAD
AH(L=0.8km) 350,000,000& 350,000
018 SE-HEHPE21S) TRINE(L=3.2%
m) 1,000,000,000& 1,000,000
~GAa E0IS(2E78) UXE NEAMS (L=
0.4km) 600,000,000 600,000
~GAb AR SA0IES(2E95) & AEY
B AHL=0. 1km) 150,000,000& 150,000
-ig FENN~RE =2 EEAEIIAMY
(L=0.42km) 100,000, 000& 100,000
-2X olAldZHZE1E) &8 SXES
AH(L=4.0km) 100,000,000& 100,000
DY AN (RE195) TR HTED
AH(L=0.58km) 400,000,000 400,000
UK S4XR(2E178) &8 SIS
AH(L=0. 3km) 300,000,000 300,000
-tHe Aol XR(2E198) &8 A M
S AHL=0.7km) 700,000,000& 700,000
QA PAEZ2(2E108) BHZ EXISAHL
=2.2km) 60,000,000& 60,000
03 Al CHHI 10,098 9,585 513
O=&=&F| 3,740,000,000& *0.27% 10,098
sSEEZ Jul 8,643,415 4,444,299 4,199,116
203 PR =&H| 2,000 2,000 0
03 A FAIH R FAIH| 2,000 2,000 0
O AIM F& 200,000& *103] 2,000
401 Al HILS0HY| 8,641,415 4,442,299 4,199,116
01 AlEHI 8,620,540 4,428,524 4,192,016
OJl2 ¥ aAI&AHbI 270,540
—alAlE L] 8,350,000,000& *3.24% 270,540
OAl&H| 8,350,000
-2X =028 (s245) MYZ SZEAZ AN
=1.4km) 500,000,000& 500,000
-0 UESHME2H=283) &2 SXES
AH(L=1.37km) 1,000,000,000& 1,000,000
-C& 02 (=3063) MYUZ A S AN
=0.5km) 700,000,000& 700,000
-23 oIB0I2(=3063) MYZ SZEZ AN
[=0.85km) 500,000,000& 500,000
&S BAZE2HS2075) &2 HHIBAHLE=
0.7km) ,000,000& 900,000




SN ALDED
M CHLA(WELER/ER)
ool TRAadatk] ESR=ED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
LR AHOIE(S1083) AZ SHEEBAN
L=1. 18km) 600,000,000& 600,000
A 2S0ts(s2073) 22 SHEHIAK
=0.4km) 450,000,000 450,000
-0 ZelStANHS AN (S2098) &
2 S EZAHL=0.52km) 600,000,000 600,000
-d4 ot 2-EH OIS (S3063) &2 X
ZZAHL=0.96km) 600,000,000& 600,000
“UHE DIEH0IS(S20658) NYUER SHEAD
AH(L=0.93m) 600,000, 0002 600,000
EE SARBITY E2 SEA(L0.4kn)
500,000,000 500,000
-S4 A0S (s245) JUZ2 SEETAK
=0.%m) 600,000,000& 600,000
-01% 221 (S3015) MHIHE S AH(L=15m)
500,000,000 500,000
UKl SE0S(s2048) 22 SHEHIAK
L=0. 15km) 300,000,000 300,000
03 A2 CHYI 20,875 13,775 7,100
sELZ JHl 8,350,000,000& *0.25% 20,875
C2AlE RX2el 5,953,786 3,165,919 2,787,867
101 @12A4H| 51,730 50,046 1,684
04 JIZtN2 2N S 2+ 51,730 50,046 1,684
OuSE LA 23,246
=] 76,9603 x72H «3E 16,624
-Of2t=& 76,9603 x72EB x50%*22] 5,542
—2tAH| 5,000 722 +33] 1,080
OZaEy HARA 28,484
-Jl=s 76,9603 x1H 245 18,85
-RERds" S 76,9603 1 +67 L 5,157
-2z 24,011,520« 2,162
-ElX= 2,309,000& 2,309
201 fet= 3| 240,200 166,730 73,470
01 AtR2t2lHl 172,150 107,800 64,350
Oget+=EHI 58,200
-E2FH| A2F 100,0003 405 4,000
MNHEMES 100,000& »20S 2,000
-EollHE Satzs 300,000& #1502 45,000
—SolHE Zefis=0U 4002 %15,0007K 6,000
-S=EHEI| HEHE 7Y
600,000& x22 1,200
ogxt= 111,350
-E2HIE =24
770,000 «2CH* 102 15,400
-2LE™ 605,000 «2CH* 102 12,100
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AN AZUSH
M CHLA(WELER/ER)
ool TRAadatk] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-SoHHE ZHIZXH(24D1)
770,000 *14CH 10,780
S HE ZHILIHEZERA)
605,0002* 140K 8,470
- 222|E SWRHE SRt
800,000& * 122 9,600
-E2 NEE FHIYXHZ4010.3m)
660,000 *60! 39,600
-C2H ESZ JHIERH(=4010.6m)
770,000& x20& 15,400
o=l 2,600
—OHE BT (R, Rels ) 2
200,000& *13H*12] 2,600
02 S3=gl 68,050 58,930 9,120
Os&s2= € MA 6,060
“CE=EXE 660
BENERES 40,0002 *1CH*23] 80
S IHA 40,0003 *1CH*22] 80
ASAEg= 500,000 *1CH*12] 500
-CEEaE ARY H)|IRs
100,000 «12& 1,200
-0el0l25 7Y RoluSHEEH Sa|
2 MRS 350,000& * 122 4,200
OAlE &I Xl 40,950
-E2EHI(M=D], 37 8) ==t
100,000 »20CH 2,000
St E FHl +=cl
200,000 »25CH 5,000
0= ¥ HERFU 18,950
e 1,900&%2,000 £ 3,800
a7 1,8002+8,000 £ 14,400
B2ER 5,000& 150 £ 750
-gXn J2xE [ 2l
15,000,000 15,000
Og | 10,040
-HoiiME(EHH) 5,000,000& 5,000
- HZ(EAEH) SHUE
1,800 %200 £ = 14CH 5,040
OXtgrdet] 11,000
“EEaCAE ® ALY 2+
11,000,000 11,000
401 AlZHIZ SO 5,629,8% 2,947,143 2,682,713
01 AlZ28| 5,616,256 2,934,906 2,681,350
O&AIZAII 176,256
-E2AE FX 5,440,000,0003 *3.24% 176,256
OAl&H| 5,440,000
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SH: HEDED
M CERHL2A|(NELSR/EZ)
e E2asgRe
S - B - SRA(SIH) - HSAY - BYS of et o
=5 - SELZ A2
400,000,000 400,000
=& - SELZ 0tA2 TMRIALY
400,000,000& 400,000
OFALE HTI(HANE S)
50,000,000& 50,000
-Oelol25 29 AldE FHl
20,000,000& 20,000
TRYS EXNT I 100,000, 0002 100,000
PE - sEER NRADY N
20,000,000& 20,000
-E2 LE:Xd &M 200,000,000& 200,000
-Z2xE X Y 2l 70,000,000& 70,000
—wE N EE B 50,000,000& 50,000
-0l &K T SI1H S=2IHE(L=1.0km)
350,000,000& 350,000
-E2EE AIRA AE O
80,000,000& 80,000
-0ISFUES T AXI(4Mn)
800,000,000& 800,000
-0l HAX7(2E208) It EX(L=0.
4km) 130,000,000& 130,000
—H4 3EXR(2EBS) &2 57 ZUI(0
.5km) 350,000,000 350,000
g B8N, SX oeln, =31
) 400,000,000 400,000
-&Y AXR(2E14s) &2 SFEHI(=0.
7km) 300,000,000 300,000
-CHE SE~YMEIHZHZ2EN0S) &2 M
TZE(L=1.2m) 160,000, 000& 160,000
~HA AHALXNZEZHZENS) &2 MW
ZE(L=1. 1km) 150,000,000 150,000
A HelX(2E188) &2 MEZ(L=0.7km
) 100,000,000& 100,000
&Y HEX~6e2HZE198) 52 MEE(L
=1.3km 180,000, 000& 180,000
-CH SE~SI0MHEIZHZE65) &2 T
T Z(L=0.%m) 120,000,000 120,000
- HENOIEN(ZE8E) &2 MEE(L=0
.9km) 120,000,000& 120,000
-Z0F =20 ZuiE2H(=21838) &2 HE
ZH(L=0.5km) 70,000,000& 70,000
A EXu~2He 2N (s128) &2 HEE
(L=1.5km) 400,000,000& 400,000
A= ¥ L= ZHID1(185m)
170,000,000& 170,000
=& - sETZ EHI(405m)
250,000,000& 250,000
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AN AZUSH
M CHLA(WELER/ER)
Chel: E2A4ae] EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A& S CHYI 13,600 12,237 1,363
OAIE20HbI 5,440,000,000&1%0.25% 13,600
405 KHaHF S| 32,000 2,000 30,000
01 ML ESFSHI 32,000 2,000 30,000
Oul=Jl 7 400,000 =5CH 2,000
OsEH=I 78 10,000, 0002 1CH 10,000
OLI=2 o] e 20,000,000 = 1CH 20,000
HEHC EXIAY 3,000,000 500,000 2,500,000
403 X SHHMSAH=01H 3,000,000 500,000 2,500,000
02 S 2SO et =& P EF A I 3,000,000 500,000 2,500,000
OUEIC EXIAH 3,000,000,000& 3,000,000
88 ZUFOE ol 600,000 515,000 85,000
401 AIEHIX 20 600,000 515,000 85,000
01 AlZ2H| 600,000 515,000 85,000
OUX AHS0ES~A10e &2 #EE(L=500m)
600,000,000 600,000
HE0IE2S2H HEAIS (HEALY) 159,000 0 159,000
< 79,500
s 79,500
401 Al HIZL 2018 159,000 0 159,000
= 79,500
= 79,500
01 Al&H| 159,000 0 159,000
OolglolE=+9S Ehl 159,000,000 159,000
= 79,500
o 79,500
CE oM 2| 200,000 800,000 600,000
< 100,000
[Ea 100,000
401 Al HIZL S 0HYI 200,000 800,000 600,000
& 100,000
= 100,000
01 Al&H| 200,000 800,000 A\600,000
O=E2Asd S+ E-SAEX 23
200,000,000 200,000
= 100,000
Ea 100,000
THoH I X2 EEI (S22 AHKI) 500,000 0 500,000
[ 250,000
= 125,000
Ea 125,000
401 AIEHIX R0 500,000 0 500,000
[ 250,000
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SN ALDED
M CHLA(WELER/ER)
el S2A42L] (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 125,000
s 125,000
01 Al&H| 500,000 0 500,000
OBY SHHSXT STAX 2SN
BIA 300,000,000& 300,000
= 150,000
= 75,000
2 75,000
00l SHXT SIMK SUAHND
BIA 200,000,000 200,000
= 100,000
& 50,000
= 50,000
Xot=2tel (8 /a6t - &) 115,159 78,611 36,548
== 5,100
[Ea 110,059
Klot=2tel 115,159 78,611 36,548
< 5,100
s 110,059
Kot=0I S ZA & HSHE 57 74,540 27,000 47,540
= 5,100
= 69,440
401 Al HIZ S 0HbI 74,540 27,000 47,540
= 5,100
Ea 69,440
01 AlZH| 74,540 27,000 47,540
OXlot=0lS & Ef AL 54,540,000 54,540
=S 3,100
s 51,440
OXIot Hs & 2 52
20,000,000 20,000
= 2,000
= 18,000
Klots= OlE 2l 40,619 51,611 A10,992
201 er2 3| 27,419 38,411 10,992
01 AtR2t2|HI 27,419 38,411 10,992
Odgt==H| 27,419
-3 8 Aot FII-EIAM =2 27,219
dEES(58) 294, 4703 x1H 295
deE+(HSE) 151,580 *30H 4,548
SYEF 120,300 *186H 22,376
“2XXote =E2SA M8 2
200,000& 200
403 MR SMSAH=01H 13,200 13,200 0




AL WS
RIgt4e| (2404 E - +3)
Klot=2tel EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 SIS0t 2 S A A 13,200 13,200 0
OExAote 2= AIEFA
1,200,000 * 117K 13,200
HLAS (SR ESLRFINL /X ALEAI) 1,520,000 720,000 800,000
72 XSAH 1,520,000 720,000 800,000
OlEsi2d 1,520,000 720,000 800,000
401 Al HIZL S 0HYI 1,520,000 720,000 800,000
01 Al&H| 1,520,000 720,000 800,000
OHIEZR(ZE,=EX2) IISENEL E
X 500,000,000 500,000
OHIHE =2 (0t2er2 SIS EXLa
1,000,000,000& 1,000,000
OLIZ2 8 sge=2 20,000,000& 20,000
sus NY(NSELSF/USLS - S7RSIIE) 12,586,676 16,435,947 A2,849,271
= 42,400
= 436,000
=S 1,563,741
s 10,544,535
WSEAN =E 452,331 428,224 24,107
= 2,700
= 1,100
Ea 448,531
WSEAN A= & =E 442,331 416,224 26,107
101 @1A4H| 52,347 50,600 1,747
04 JIZtNZ22 XS 2+ 52,347 50,600 1,747
OusSEMAERA 52,347
-Jl==2 76,9603 x2H 245 37,711
-FERdsg 76,9608 x2& *67 L 10,313
-28= 48,023,040« 4,323
201 er2&y| 171,264 171,904 2640
01 AtR2t2|HI 82,536 62,936 19,600
Odgt==H| 65,536
-USHIAM & WSEM S2= A
5,760,000& 5,760
-NSAHYEE 2 FEL AALHUHE 7
SAXIA HIE 100,000 *35* 102t A 3,000
-HSE N 882 *15,000H 1,320
=3I =sA=79 ot M
200,000 * 107K 2,000
“HAARME TIE 50, 000& *50H 2,500
“HAAHE AR =2 80&+10,000 800
“USHEAIEES MMM =2 28,156
ASS
(51,0002 #1067 48,6002 #4755 5= )*1 .1 10,441
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SN ALDED
¥ UsksS NF(NSLESF/UHSnsS - =7SIIE
el o f stEE2+Ag X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 39,700
[ 436,000
= 402,641
= 5,796,927
22A RIIEBES X2 2,500,000 3,000,000 A500,000
307 elztol & 2,500,000 3,000,000 A500,000
B 2=gHEXS 2,500,000 3,000,000 500,000
O2=gAHRIIEEZ N
2,500,000,000& 2,500,000
gAsd 2424 N2 903,000 903,000 0
[ 197,000
= 56,000
[Ea 650,000
307 gl2to| & 903,000 903,000 0
[ 197,000
= 56,000
= 650,000
09 2 AHAELS 903,000 903,000 0
Oglled 24d2d=s Xd
903,000,000 903,000
[ 197,000
= 56,000
= 650,000
HAH MEXE 1,225,000 1,085,000 140,000
S 225,000
o 1,000,000
307 @120l & 1,225,000 1,085,000 140,000
== 225,000
o 1,000,000
09 2FAHEXS 1,225,000 1,085,000 140,000
OHASH WEX2 1,225,000,000& 1,225,000
< 225,000
= 1,000,000
EAIZH 224 X~ 230,000 218,000 12,000
= 39,000
Ea 191,000
307 gl2to| & 230,000 218,000 12,000
= 39,000
s 191,000
09 2FSAHEXS 230,000 218,000 12,000
OHAIZH S22 A&
23,000,000 *10CH 230,000
= 39,000
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2A:
PSER
o e

el

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

H

191,000

BARS JI=ZH =2 X

M

16,000
1,861
14,139

15,600

400

307 212t01&

A H

16,000
1,861
14,139

15,600

400

16,000,000

M

16,000

16,000
1,861
14,139

15,600

400

M

47,000
23,500
23,500

47,000

307 212t01&

A H

47,000
23,500
23,500

47,000

=
O=s0&E HA WSHE =2 KFAY

7,000,000

M

ol X

40,000,000

MO

47,000

7,000
3,500
3,500

40,000
20,000
20,000

47,000

MRIHA S 2SN (SE)

HH A

502,000
189,000

96,000
217,000

456,000

46,000

307 212t01&

HoH A

498,400
187,200

95,100
216,100

450,600

47,800

09 2+YHEXS

|
OWIIEAl 2¢

498,400,000&

Mo A

498,400
498,400
187,200

95,100
216,100

450,600

47,800

308 AXIHMSO0IA

Mo A

3,600
1,800
900
900

5,400

1,800

_25_




FAN AZUSH
M JEDS N (DSYSH/HELS - 2RSIIEN
=t o & slE2eAE X (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 SIS0t 4 A AS A 3,600 5,400 /1,800
Ox=QSEE HWSLS(RT) AIAE AIER
300,000 * 122 3,600
= 1,800
== 900
= 900
HetE ¥Es =8tA 29 100,000 100,000 0
= 50,000
Ea 50,000
307 gl2to| & 100,000 100,000 0
[ 50,000
o 50,000
09 2FHHEXS 100,000 100,000 0
OHEs =stA =28 K&
100,000,000 100,000
= 50,000
T 50,000
BAIEH 222 X3 486,480 419,280 67,200
201 er2&| 486,480 419,280 67,200
01 At2teltl 486,480 419,280 67,200
OEAIZH 2AF210 X 486,480
-2z 130,000 x160CH* 12 249,600
-2z 76,0002 «240CH < 122 218,880
- OHIE 180,000 »100CH 18,000
SWEAl 23 230,000 230,000 0
307 elztol & 230,000 230,000
09 2 AELS 230,000 230,000
OSUEAl 238l X2 230,000,000 230,000
HASN B 24 22,000 22,000 0
207 ARl 22,000 22,000
01 S| 22,000 22,000
OHAGH BE=AEH & HLQSH S
B 22,000,000& 22,000
BASHEE ANAH 25 29 2,359 2,420 261
308 XXM SO0IH 2,359 2,420 261
11 SIS0t oA A A 2,359 2,420 61
OHA2HEZAIAY 29
2,359,000& 2,359
FELENSIHE AH Ordel Xl X2 1,400 2,000 2600
= 700
= 280
= 420
308 AXIHSOIA 1,400 2,000 2600




FAN AZUSH
¥ UsksS NF(NSLESF/UHSnsS - =7SIIE
el O & SEEsA X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 700
=S 280
2 420
11 2|2 SUHE AR PIE AT 1,400 2,000 2600
OZAYSDEIIC o) OrY2lX X
1,400,000 1,400
= 700
= 280
o 420
HAZEAIAS(BIS) HXl2e 43,029 36,860 6,169
308 AHXIHMSO0IA 43,029 36,860 6,169
11 SIS0 EAS A 43,029 36,860 6.169
OHARSAIAL(BIS) RXIZ2
43,029,000 43,029
SHEHA WSIHE AAHE 2= 52,000 100,000 /48,000
307 elztol & 52,000 100,000 /48,000
0 2+=gAHE 52,000 100,000 48,000
OSHEHA HHYS ALY 2=
52,000,000 52,000
HASHLRSH 29 315,000 315,000 0
307 @I2t01 & 315,000 315,000
09 2=FAHEXS 315,000 315,000
OHee=H sd=24ds X
315,000,000 315,000
wNSATAEE & & EH| 4,585,127 7,364,540 N2,779,413
= 1,160,000
[Ea 3,425,127
wWSOHA - HOAE EX & FH| 1,433,723 1,465,600 A31,877
201 eer23y| 90,955 82,832 8,123
01 AtR2t2|HI 9,600 9,600 0
Ogxz 9,600
-NSHIURES I AR
800,000& * 122 9,600
2 352484l 81,355 73,232 8,123
OAlE &I Xl 14,800
-HASAHOIIA 22 ZHI (29500 2)
7,400,000 22 14,800
OZ232= 2 HMAl 66,555
-uUESNSI| IR
4,900,000& 12 58,800
g SFU(ER)
1,795%1%360 £ 12 7,79
401 Al HIZ S 0HbI 1,342,768 1,382,768 /40,000
01 AlZ2H| 1,337,700 1,377,700 240,000

_27_




EA: HEnEH
A HznsE IY(NEY=F/HEUE - E]SIIE)
oRlr WSOHNAIEE &E 2 JU| (St &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OnErMAIEZ AKX & Y| 1,117,700
X Y EHEE T A
470,000,000 470,000
HUFEX SAFE THEA
30,000,000& 30,000
-—uwEANSI| EX 63,000, 000& *6IH A~ 378,000
~WESAMSHONI WA
700,000 *60H A~ 4,200
—WEANSI| 3= DAl
2,500,000& %1504 37,500
—goes s3] g1
4,000,000 *2000 2~ 80,000
-Wo2183&2s &Xl
3,000,000 & *6IH 2~ 18,000
-—WSOHMEXE AX| 100,000, 000& 100,000
OUNECHNHANLEZ RAE4
140,000, 000& 140,000
OHASHIDIA &X
10,000,000 x50 A~ 50,000
OHAZZIIA SN2
30,000,000 30,000
03 AlE20HHI 5,068 5,068 0
ONEHMAIEZ & &L A
1,407,700,0002 *0. 36% 5,068
FREHZE NS KR (HEAS) 2,450,000 5,253,000 A2,803,000
& 1,160,000
= 1,290,000
401 A& HILE0HY] 2,450,000 5,253,000 A2,803,000
== 1,160,000
- 1,290,000
01 Al&H| 2,441,360 5,240,000 N2,798,640
OJlEg & AAIEH 30,000,000 30,000
OGat AMIHK SE=XHE ZH ALY
1,207,120,000& 1,207,120
= 605,000
= 602,120
Oztg std SYFIUHE Z-AMY
707,120,000 707,120
= 355,000
= 352,120
O&Y Wl SYFXE M
497,120,000& 497,120
& 200,000
= 297,120
03 AIEE20HYI 8,640 13,000 A4,360

_28_




od
i’
o
uJ

38|88 38 X BIBBB
bA Ral b N N e Bl el
2 E 8|8 SEIEE
Klo
E
E=)
83 818 8 > | oo
S| NS N~ RIS
[Yo 3N BN HaN| o [l
. 2 2|2 B|8|8|8
LH3r
<l
RIS
2131212 € N RNS|8 8 S 8 8 88 3 I3 1313838 3 B >m b KRB 3 N 3 S
SIF|D[n o o Sigls & S S o © 9 &5 S|ogg|e s d - o6 Ss § 0@
IR T T8l ® 8 8 8 §¥=7Y VIRIBIRIEEE g8=FT e 2 &5 °
al
<
=3
] oW o W ow W M W W & WO g oom o oW o @ W o
S S o S 8 8 8 88 © N N N - T - -
o oW = = = = = k] A = I B,
o | 2 S g E@8 8 8 88 & cfeeocg B2 2 9
A= = — a8 % =
. 0 = Kd o ! * 3 >
3 ¥ R 4 <3 S8 - @6 = o ® 2 g
ol R K = R a T LIS S S ® © A ¥ 0O @ ®
=< =z = 0K z K > = 2
o |uo 8 8 T 5 w = 4 o g 5
< Ww K0 K0 ok N.M =< ._..A.._ &l = B0 2.ro%
S ROR i RN @ < oH T
= xw K- KE N g M K 0 uo ar 30
] Z 3 80 = @ 5 b 50 o o o <k
S [0 = M |5 2 & B oaw TR K o R TR = &o
= i = o Kl Kd = o5 e D = = = = Mo = =
F |= o wr w oW OK T K gola wE D < m om0 om0 w0 mowm < K
ol 1= lz o W WSl KA B A e 28 I gy oo M MMM <R W
. = e = oh ] H0 =) Ho LR E=ld| g~ 00 = R ORM &l o+
= B A L e e e e R AU oS |F B o5 A = o =
U gl 20|25 [o Ao O° av Wl R " ) a0 30 30 3 © Wo |<F |~ |my B s 01 0 38 &) H <3l .| 01 =<
RO g0 (Ki|Guldo do ™ "™ (==& W & A ™ M =3 |[slwla|a U S
- 10 |m|=|a O -0 O O O O 0«40 |Blalxla O
& |8 |® §|° = 5 m|B)8
I+ Kk Wo | ur
E




N2 (nSLSR/UHEDE - 2FSIIE

2. ERI(E) - HRAY - BaS e
el 161,960
== 900, 0002 «9CH* 12& 97,200
S¥= 1,100,000 1,100
A EH] 100,000 *0CH* 122 10,800
2E 2, NSIHAlL B At
1,700,000& *9CH 12 15,300
=?H2l mA2 300,000 * 12 3,600
SHes 90,0002~ 122 1,080
SFIEYH Ol & 22|
300, 0002 ~OCH* 122 32,400
SHg DRAMLL
30,0003 %169 480
b =4I 98,000 49,000
L ESFSHI 98,000 49,000
OuSAAZHAl 7
49,000,000 *2CH 98,000
HY2SAZHI(HE S (JIEHIIE 712,521 712,521 0
= 377,537
Ea 334,984
o2 (HLnSH) 658,549 658,549 0
= 377,537
o 281,012
H2IH(AHLE NS 658,549 658,549 0
== 377,537
o 281,012
101 e124d| 606,957 606,957 0
< 347,976
T 258,981
03 SR (RINHA) 222+ 606,957 606,957 0
O==2¥ 606,957
-Jles 2,721,4503 x 138+ 123 424,547
= 243,265
[Ea 181,282
A Rdd+E 220,000 x13F 128 34,320
== 19,700
[Ea 14,620
-Ag =& 100,000& x13E « 12& 16,600
= 8,954
= 6.646
-HEag 100,000&~1&~12& 1,200
=S 689
s 511
A= 680,000& * 122 8,160
< 4,692




FAN AZUSH
T WYSHAL|(ALDED) OIEHIIEN
CHel: QIAR2AH|(AL DS (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 3,468
-SE S0l 2,721,450 «60%+* 13 +23] 42,455
== 24,369
[Ea 18,086
HEozLY
3,049, 1403 /2262 *1.5+20 Al 24+ 13H + 122 63,142
= 36,243
[Ea 26,899
PRSI S
2,721,450 /2262 +8 A1 2Hx13H » 142U 2 17,533
< 10,064
[Ea 7,469
04 HSRESS 51,592 51,592 0
= 29,561
= 22,031
04 SR (RIHA)22X BEE=RES S 51,592 0 51,592
OkzE+d H32Es
606,955,392 x0.045 27,313
= 15,650
o 11,663
O2E+2 =A==
606,955,302 x0. 04 24,279
S 13,911
= 10,368
[2ZH(AE RS 53,972 53,972 0
Jl2dH(HLnsn) 53,972 53,972 0
201 eer23| 28,232 28,232 0
01 AtR2t2|HI 28,232 28,232 0
Odgt+=H| 9,500,000& 9,500
O=gtl 18,732,000 18,732
202 04| 12,000 12,000
01 SLHoIH 12,000 12,000
OJ|2gfd 50,0003 x20E « 12 12,000
203 HR=AH] 8,340 8,340
01 D[22 HRFA| 3,300 3,300
o= 3,300,000& 3,300
MU A2 LRSI 5,040 5,040 0
302! Olat 400,000+ 123 4,800
0312l ol4t 5,0008 4122 240
204 ARt AH| 5,400 5,400
01 MG HI A HH] 5,400 5,400
O4s 350,000 x1& =123 4,200
Os5=z 100,000 x 12 x 122 1,200

_31_




